Yr10 Science
    Quiz – Drag strip analysis
    Name: 

A car has been leaking oil as it accelerated       A snail, equipped with a GPS sensor
on the road.  Determine the acceleration 
   that plotted its slimy path every two
given the oil is dripping one drop every 
   seconds, oozed its way towards a piece half a second.  



   of lettuce.  Calculate its average speed.



U = S/t


    = 0.06/1


    = 0.06ms-1










Vav= S/t








      = 0.158/18








      = 0.0088ms-1


a = v-u
        t



  = 0.013 – 0.06



5



  = -0.0094ms-2



 

V = S/t


    = 0.013/1



    = 0.013ms-1
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